
31-10-2023 - Rev.6

Skirt 45mm, F-bolt M6x60 

UDBYNEDER
3700545
83645001

1/18



1200 mm1200 mm

7
5
0
 m

m

748 mm

6
6
4
 m

m
7
6
 m

m

748 mm

2/18

226 mm



Skirt 45mm, F-bolt M6x60 

3/18



Skirt 45mm, F-bolt M6x60 

4/18



Skirt 45mm, F-bolt M6x60 

5/18



Skirt 45mm, F-bolt M6x60 

6/18



7/18



8/18



9/18



10/18



Skirt 45mm, F-bolt M6x60 

11/18



M6x12 mm M6x30 mm

T30

Ø6/Ø20 mm

B x 8A x 8 C x 8 D x 4

Skirt 45mm, F-bolt M6x60 

M8x32 mmØ4x40 mm

F x 1E x 4 G x 8 H x 1

M6x50 mm

M6x60 mm

 A  B
 C  D

 E
F  G

 H

12/18

4 mm

J x 1



Skirt 45mm, F-bolt M6x60 

 x 22

3

1

2b

2a

30x44x745mm1200x1200x76mm

1 

30x44x745mm 508x69x664mm

32
4  x4

13/18

1

4  x4

3

2



A

C

E

B

E

D

D x 4

Skirt 45mm, F-bolt M6x60 

H

C

B
A

H

C

B
A

 M6x12 mm M6x30 mm Ø6/Ø20 mm

B x 4A x 4 C x 4

T30

H x 1

14/18

4mm

J x 1

1

H
C

B

A
J

1

4

4

4

4

M6x60 mm

E

M6x50 mm

D

M6x30 mm

C



A

C

E

B

E

D

D x 4

Skirt 45mm, F-bolt M6x60 

H

C

B
A

H

C

B
A

15/18

1

J

C B

A

H

2
 M6x12 mm M6x30 mm Ø6/Ø20 mm

B x 4A x 4 C x 4

T30

H x 1

4mm

J x 1

4

4

4

4

M6x60 mm

E

M6x50 mm

D

M6x30 mm

C



3

F

4x40mm

F x 1

Assembly Instruction
INSTRUCTION DE MONTAGE

MONTAGEANLEITUNG

SAMLEVEJLEDNING

7

7
7 7

7

7 7
7

5

5
5

5

4
E x 4

M6x60 mm T30

H x 1

E

E

E
E

H

16/18

2

3

4  x4

2

3

M6x60 mm

E

M6x50 mm

D

asdasdasdasdasdasdasdasd



Assembly Instruction

5

INSTRUCTION DE MONTAGE

MONTAGEANLEITUNG

SAMLEVEJLEDNING

7

7
7 7

7

7 7
7

5

5
5

5

T30

H x 1

M8x32mm

G x 8D x 4

M6x50 mm

17/18

H

H

H

H H
H

D

D

D

D

H

H
H

1



7550

Skirt 45mm, F-bolt M6x60 

6

18/18

I n d o n e s i a SEM201054
Technical Dept.

2008 - 2009 1 : 1
Scale Drawing Date Approval Date

27 FEB 08
Page no.

01/01

Table foot black, PScanCom Drawn

@man$

Checked Approved Item no.

Hardware Sketch

Supplier stamp

Stampel supplier

Note :  - Height style 3mm "Verdana style"

- 2 character 

25 OCT 07 - 27 FEB 08Rev-  No change
History

VALID FOR
2013 - 2014



1/6

NABE 3791960
56656001

22.07.2021-Rev.1

22

PAP

570 mm

 

61
0 

m
m

820 m
m



2/6 

GB: 

DK: 

DE: 

NO: 

SE: 

FI: 

PL: 

CZ: 

HU: 

NL: 

SK: 

FR: 

SI: 

IMPORTANT, RETAIN FOR FUTURE  
REFERENCE: READ CAREFULLY 
VIGTIGT, GEMMES TIL SENERE  
BRUG: LÆS OMHYGGELIGT 
WICHTIG, FÜR SPÄTERE BEZUGNAHME  
AUFBEWAHREN: SORGFÄLTIG LESEN 
VIKTIG. MÅ OPPBEVARES FOR SENERE 
BRUK:MÅ LESES NØYE 
VIKTIGT – SPARAS FÖR FRAMTIDA  
BRUK:LÄS NOGA 
TÄRKEÄÄ, SÄILYTÄ MYÖHEMPÄÄ  
TARVETTA VARTEN: LUE HUOLELLISESTI 
WA NE, ZACHOWA  NA PRZYSZ O : 
PRZECZYTA  UWA NIE 
D LE HOVEJTE PRO POZD JŠÍ  

 T TE POZORN  
FONTOS, RIZZE MEG A K BBIEKRE:  
OLVASSA EL FIGYELMESEN 
BELANGRIJK, BEWAREN VOOR TOEKO- 
MSTIG GEBRUIK: ZORGVULDIG LEZEN 
DÔLE INFORMÁCIE SI ODLO  NA 
PO  BUDÚCNOSTI: ÍTAJTE 
POZORNE 
IMPORTANT, À CONSERVER POUR TOUTE 

: LIRE 
ATTENTIVEMENT 
POMEMBNO, SHRANITE ZA POZNEJŠO  
UPORABO: POZORNO PREBERITE 



3/6

HR:

IT: 

ES: 

BA: 

RS: 

UA: 

RO:

 VA , SPREMITE ZA BUDU U  
UPOTREBU: POZORNO PRO ITAJTE 
IMPORTANTE, CONSERVARE PER CONSUL - 
AZIONI FUTURE: LEGGERE ATTENTAMENTE 
IMPORTANTE: CONSERVAR PARA FUTURAS  
CONSULTAS Y LEER DETENIDAMENTE 
VA , SA UVAJTE ZA UBUDU E: 

VO PRO ITAJTE 
VA , SA UVAJTE ZA BUDU U  
UPOTREBU: IVO PRO ITAJTE 

!      
  . 

   .  
IMPORTANT, P STRA I PENTRU CONSUL- 
TARE ULTERIOAR : CITI I CU ATEN IE 

,    
:  

IMPORTANTE, CONSERVE PARA REFERÊNCIA 
FUTURA: LEIA COM ATENÇÃO 

 ,   
 

 . 
ÖNEML , GELECEKTE BA VURMAK 

BG: 

GR: 

PT: 

RU: 

TR: 

CN: 



 4/6

GB: 

DK: 

DE: 

NO:

SE:

FI: 

PL:

CZ:

HU: 

NL:

SK: 

FR: 

SI: 

HR: 

IT: 

ES:

BA: 

RS: 

UA: 

RO: 

BG: 

GR: 

PT:

RU: 

TR: 

CN: 

WARNING FOR SEATING FURNITURE! 
Tested for 110 kg. per seat.  
ADVARSEL VEDRØRENDE SIDDEMØBLER! 
Testet for 110 kg. pr. siddeplads.  
WARNUNG FÜR SITZMÖBEL! 
Getestet für 110 kg je Sitz.  
ADVARSEL FOR SITTEMØBEL! 
Testet for 110 kg per sitteplass.  
VARNING GÄLLANDE SITTMÖBLER! 
Testad för 110 kg per sits.  
ISTUINHUONEKALUA KOSKEVA VAROITUS. 
Testattu 110 kg:lle istuinta kohden.  
OSTRZE ENIE DOTYCZ CE SIEDZISKA! 
Przetestowane obci enie: 110 kg/siedzisko.  
VAROVÁNÍ PRO SEDACÍ NÁBYTEK. 
Testováno na 110 kg na sedák.  
ÜL BÚTORRAL KAPCSOLATOS FIGYELMEZTETÉS 
A vizsgálati terhelés ülésenként 110 kg volt.  
WAARSCHUWING VOOR ZITMEUBILAIR! 
Getest voor 110 kg. per stoel.  
VÝSTRAHA PRE SEDACÍ NÁBYTOK! 
Testovaný na hmotnos  110 kg na sedadlo.  
AVERTISSEMENT POUR LE MOBILIER D'ASSISE ! 
Testé pour un poids de 110 kilos par assise.  
OPOZORILO ZA  POHIŠTVO! 
Preskušeno za 110 kg/sede .  
UPOZORENJE O NAMJEŠTAJU ZA SJEDENJE! 
Testiran je za inu od 110 kg po sjedalu.  
AVVERTENZA PER SEDUTE D'ARREDO! 
Testate per 110 kg per seduta.  
¡ADVERTENCIA PARA ASIENTOS! 
Probado para 110 kg por asiento.  
UPOZORENJE ZA NAMJEŠTAJ ZA SJEDENJE! 
Testirano za 110 kg po sjedištu.  
UPOZORENJE VEZANO ZA NAMEŠTAJ ZA SEDENJE! 
Testirano na 110 kg po mestu za sedenje.  

     . 
  110    .  

ATEN IONARE PRIVIND MOBILIERUL PENTRU EZUT! 
Testat pentru 110 kg per pies  de mobilier pentru ezut.  

    ! 
    110   .  

   ! 
  110   .  

AVISO PARA CADEIRAS! 
Testadas para 110 kg por cadeira.  

   ! 
   - 110 .    .  

BÜRO SANDALYELER NE YÖNEL K UYARI! 
110 kg için test edilmi tir.  

 

110 kg.



 5 /6

EN581

GB: 

DK: 

DE: 

NO:

SE:

FI: 

PL:

CZ:

HU: 

NL:

SK: 

FR: 

SI: 

HR: 

IT: 

ES:

BA: 

RS: 

UA: 

RO: 

BG: 

GR: 

PT:

RU: 

TR: 

CN: 

Domestic use  

Husholdningsbrug  

Nutzung im Wohnbereich  

Privat bruk 

Hemmabruk  

Kotikäyttöön  

Do u ytku na zewn trz domu  

Ur eno pro domácí p ití 

Lakásban való használatra  

Thuisgebruik 

Ur ené na domáce pou itie  

Pour la maison 

Doma a uporaba  

Za upotrebu u ku anstvu  

Uso domestico  

Uso doméstico  

Upotreba u doma instvu  

Za upotrebu u okviru doma instva  

    

Pentru uz casnic  

      

    

Uso doméstico  

    

Ev içi kullan�m 



6/6


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18

